TTT T T 1 [TTTT T T T LLLR N B I
e 0]
]
o
Te}
e 0}
<
+
o
—
(@]
©
o
[0}
o
-
n
<
- _
a :
R bttt 1 TR
C’ID Al
o o
L | L |
(A93 s zwd)/suojoyd
TTT T T T 1 [TTTT T T 1 [TTTT T
%— —
o]
0
0
* — —
E: :
E L 7
m_ —
Qo |- —

930817 0197

-

-~
|
o

L |

(A®¥ s)/syuno)

1.00

Energy/keV

0.10

1.00

Energy/keV

0.10

- N m
T 779
=1
“ o o
w ¥ o
- M -
[
+ + o+
- N N = M
3T 337
e N -
m O o © ©
& o o + 9
- e e e N

() 1]
-
© — Il
S ] >
o x 08 E
2 2 = = &
n [z, z B z
[TTTT[TTTT[TITTI[TTTT
Ao bvrraliraalinnm
[aV] — o —
|
srenpisay

1.00

0.10

X2req = 0.221

Energy/keV



